
Factorising Quadratics (a = 1) 



2

1 Factorise the following quadratics: 

1(a) 𝑥2 + 14𝑥 + 48

[2 marks]

Answer

1(b) 𝑥2 + 13𝑥 + 42

[2 marks]

Answer

1(c) 𝑥2 + 10𝑥 + 16

[2 marks]

Answer

1(d) 𝑥2 + 8𝑥 + 7

[2 marks]

Answer

1(e) 𝑥2 + 12𝑥 + 32

[2 marks]

Answer

Turn over for next question

Turn over ►

10
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2 Factorise the following quadratics: 

2(a) 𝑥2 − 10𝑥 + 24

[2 marks]

Answer

2(b) 𝑥2 − 11𝑥 + 28

[2 marks]

Answer

2(c) 𝑥2 − 11𝑥 + 30

[2 marks]

Answer

2(d) 𝑥2 − 8𝑥 + 15

[2 marks]

Answer

2(e) 𝑥2 − 4𝑥 + 4

[2 marks]

Answer

Turn over for next question

Turn over ►

10
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3 Factorise the following quadratics: 

3(a) 𝑥2 + 𝑥 − 30

[2 marks]

Answer

3(b) 𝑥2 + 2𝑥 − 35

[2 marks]

Answer

3(c) 𝑥2 + 4𝑥 − 5

[2 marks]

Answer

3(d) 𝑥2 − 𝑥 − 2

[2 marks]

Answer

3(e) 𝑥2 − 4𝑥 − 5

[2 marks]

Answer

Turn over for next question

Turn over ►

10
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4 Factorise the following quadratics: 

4(a) 𝑥2 − 3𝑥 − 40

[2 marks]

Answer

4(b) 𝑥2 + 5𝑥 + 4

[2 marks]

Answer

4(c) 𝑥2 + 3𝑥 − 18

[2 marks]

Answer

4(d) 𝑥2 + 𝑥 − 2

[2 marks]

Answer

4(e) 𝑥2 − 6𝑥 + 5

[2 marks]

Answer

End of Questions

END
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